The Kandla port is located in the
state of

(A) West Bengal
(C) Odisha

(E) Not attempted

(B) Maharastra
(D) Gujarat

What is a graph in C ?
(A) A visual representation of data

B) A i

(B) A collection of nodes P‘;-E]
e
(D) A programming language

(E) Not attempted

(C) A mathematical formula

Mohinder ploughs a field in 6 days and
Ram ploughs the same field in 12 days.
How long both of them take to plough
the same field working together ?

(A) 4 days

(B) S days

(C) 3 days

{D) 3.5 days

(E) Not attempted

Which bodystarted first radio
broadcasting in India in 1923 ?
(A) Radio Club of Bombay

(B) Radio Club of Madras

(C) Radio Club of Kolkata

(D) Radio Club of Delhi

(E) Not attempted

This pressure belt is also calied as
‘Horse Latitudes’

(A) Sub-tropical high pressure belt
(B) Equatorial low pressure belt
(C) Polar high pressure belt

(D) Sub-polar low pressure belt

(E) Not attempted

CG - CHS24

g deung foha Tsg 4 g 2 7
(A) TfEm T (B) HERTZ
(C) s \AD) T

(E) A5nféa

1.

CHUEG FTEAI S ?
_AA) B Terggeren sexiA
(B) HigH 1 e

(C) TIfora =T

(D) T ST e

(E) S5riéd

Hiftet T Bd 1 6 Ted H <idar g 3R W

It @ 12 o ° Siar & 1 g et

azﬁ@?raﬁa’mﬁﬁﬁmmméﬁ% ?
LAA) 4 fed P =g ﬁw

B) 5T Rz Ey

(C) 3T

(D) 3.5 fea

(E) ST9aTad

1923 H YA H Had Yge A varer feg
e % e o e 2

(A) e Fo1a 3T wiF -

(B) e o 31T% wgmm

2.

4.

%*\memaﬁw

(D) et 1w 37 feeeht

(E) ST "
5. WqE éﬁﬁ‘aﬁam’&ﬁmm%

Ay ITOTHEHE 351 qume

(B) Y& W& et gog Oy

(C) Y=t 3= Tog 99y &

(D) S9-F v o @ &y
(E) Iwamiyg
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10.

train in kilometer per hour.

Which of the following is the name of
Brahmaputra river in Tibet ?

(B) Tsang Po
(D) Sundari

(A) Jamuna
(C) Sonaa
(E) Not attempted

Which keyword is used to define a
tagged structure in C ?

(A) struct
(B) typedef

(C) union
(D) enum
(E) Not attempted

Hawa Singh won the Asian Games
gold medal in consecutive editions of
the games in the 1966 and 1970 for
which of the following games ?

(A) Weight lifting (B) Boxing
(C) Running (D) Badminton
(E) Not attempted

What is Project Haryali ?

(A) Drip Irrigation Project

(B) Watershed Development Project
(C) Forest Cover Improvement Project
(D) Western Ghat Protection Project
(E) Not attempted

A train 375 m long takes 30 seconds
to cross a pole. Find the speed of the

(A) 45 km/hr
(B) 44 km/hr
(C) 46 km/hr ‘%}Z’@
(D) None of these ELE

(E) Not attempted

CG - CHS24 ‘1

6. fyeara o srargd A4 1 AW Fr=fefaa @ 1
FH-TIE 7
(A) SHAT
(C) |
(E)

foru frw Hrad w1 @ foRam S @ 7
UA) struct
(B) typedef

(C) union

(4B) 5
(D) Gall

8. a1 firg 3 Pr=ffiad 9 € fra @« W 1966
3R 1970 3 Hiies SRl § TRETE o
Tl ek Sl ?

(A) SRREE  H(B) Ferhes
(©) < (D) wi=fied
(E) Tyt

9. Tl REET TR 7
(&) fgu f=ns s
(B) Tewrg ferepra wf@sAT
€] I T GUR TR
(D) uf3rt =re werr giEeHT

(E) Irvanfaa
10. 375 Hit Tl Th WeEl Th W &l IR
FH T 30 Yehe T G0 Adl & | Tt &l
Tt fepetitet wfa we o wd_Hii |
LA 45 Tt/ ﬂlxg’f
(B) 44 ferrft /erer 3;
(C) 46 Tl /g
(D) 94 @ I3 T8I
(E) IT9amiia
D
—
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11.

12'

13.

14,

15.

. issing
A number series with one term L

is given. Choose the correct option to
complete the series.

20, 19, 17, ?, 10, 5

(A) 12

(B) 13

(C) 14

(D) 15

(E) Not attempted

Which of the following is known as
‘Fruit Bowl’ of India ?

(A) Madhya Pradesh
(B) Uttar Pradesh

(C) Himachal Pradesh
(D) Orissa

(E) Not attempted b El
ir.

b ~Fo.

[=]:7[=]
If the letters of the word
BOMBARDMENT are arranged in
alphabetical order, then how many
letters will remain in the same

position ?
(A) O (B) 3
(C) 2 (D) .1

(E) Not attempted

National Botanical Research Institute
is located at

(A) Néw Delhi

(B) Bangalore

(C) Chennai

(D) Lucknow

(E) Not attempted

Which of the following is a logical
bitwise operator ?

B

U Hem spaen 4w 2, v
fepen gfw 1,
20, 19, 17, ?, 10, 5
(A) 12

(B) 13

e 14

(D) 15

(E) Avamfya

12. Fe=fafga & @ fel wia =1 ‘et @
HIA HET AT 8 7
(A) HEF Sem
(B) ST ew
Le) Term=rer wem
(D) 3T
(E) 3r5amiya

ABBLOEMI Mo 2T .
13. 9fc weg BOMBARDMENT & 312 =)

11.

AUIIHA F T T A1 TR 3R g
JYTEd @I 7
(A) O (B) 3
(©) 2 LAD) 1
(E) 3TSTiaa
14. UM g9eafa SgEyH e g @
AT TR et
(B) €I
(C) =15 x
(D) <& B -
(E) 3Twfia ey
——

(A) * (B) / LEEE '
s (A) > LBf /
(E) Not attempted (E) 3T
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The angle of depression of an object
from a tower of height 150 m is 30°. The
distance of the object from tower is

(A) 50+/3m
(B) 100V3m
(C) 15043m

(D) None of these
(E) Not attempted

17. What percentage of rural consumer’s

income is spent on groceries ?
(A) 10%

(B) 45%

(C) 62%

(D) 27%

(E) Not attempted

18. Which of the following company is

launched Shagun-Gift an insurance
policy ?

(A) LIC

(B) ICICI Life Insurance

(C) SBI General Insurance
(D) TATA General Insurance
(E) Not attempted

19. Complete the following series.

BV, CU, ES, HP, LL; QG,

(A) VB (B) WB .
(C) WA (D) VC L‘%‘ﬁg
E =

(E)*Not attempted

What does TTL stands for ?

(A) Transistor Timing Logic

(B) Transistor-Tuned Logic

(C) Transistor-Transistor Level
| 4D Transistor-Transistor Logic

(E) Not attempted

CG - CHS24

150 HieT IS AT THh T H U =
ST FI0 30° B | TEH AR A gl
FR 7

(A) 50+/3 HiX

ZEE (B) 10043 HX

16.

Bt (C) 1503 X
(D) 8 & HIg TE
(E)

17. TEoT ITHET S AT 1 TR i
fp % T | @ BT 8 7
(A) 10%
(B) 45%
(C) 62%
UDy 27%
(E) Tenfyd

18, Prefafea # & e s 3 wR-fwe
i oifere @i R R ?
(AF LIC
(B) ICICI 9T5% $RIRH
(C) SBI Id $WRA
(D) TATA SR& STARE

(E) TS
19. Tm=fefaa =aen of =t |
BV, CU, ES, HP, LL, QG, W
(A) VB (B) WB
e WA (D) VC
(E) TSR

20. IUA & FT 3G B ?
(A) gt ersfim =it
(B) Tmet-e diftieh
() gifret-gifre e
(AD) TR -2 Sifieh
(E) STsRITtEd

=B

v

Vi
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21.

22.

N
W

24.

25.

A series has been given. Choose the
correct option for missing term to
complete the series.

KMS, 1PS, GS11, EV14, ?

(A) BX17 (B) BY17 etk
(C) CY18 (D) CY17 WS,
(E) Not attempted

What is the maximum validity of
Learners Licence in India ?

(A) 6 Months

(B) 3 Months

(C) 1 Year

(D) None of the above
(E) Not attempted

Three vertices of a parallelogram are
(1, 3), (2, 0) and (5, 1). Its fourth vertex is
(4) (3, 3) (B) (4, 4)

(C) (4,0 (D) (0, -4)

(E) Not attempted

Which of the following is concerned
with the quantum and'frequency of
income receipt of rural people ?

(A) Product Mix

(B) Distribution Mix

(C) Promotion Mix

(D) Price Mix

(E). Not attempted

If a man were to sell his hand cart for
% 720, he would loss 25%. What must
be the selling price if he were to gain
25% P

(A) ¥ 1,000

(C) ¥ 1,300

(E) Not attempted

(B) T 1,200
(D) % 1,400

21.

22,

23.

B

CG - CHsz4
U @ ) R | T T g
WWW%WWWW|
KMS, IP8, GS11, EV14, € Y 17
(A) BX17 (B) BY17
(C) cyis D) CY17
(E) 3rv=nfg
mﬁaﬁﬁmﬁwﬁﬁwéw
R 7
zﬂ6ﬂ3‘ﬁf
(B) 3 w&M
(C) 199
(D) 9 & & w72
(E) Tvamfig
T GAT TS % fF o (1, 3), (2, Q)

HR(5, 1) | 35 <o g 77 2 -

wmam (A 6, 3) (B) (4, 4)
-5 ot
it (©) (4, 0) D) (0,-4)
(E) 3
24, Tr=fafed 4 @ =9 anflo St 6 s

25.

wIfed =t 7E 3R ey @ daf R o
(A) 3Jeute Theor

4B feraror fiygror

(C) =R fasror -
(D) Hea Tz -
(E) STS=tea

Ife ek e 391 3e T 720 H S @ A
25% I g grft | afe 38 25% 1 @M
Bl feshg go &/ ghft 2

(A) ¥ 1,000 \UB}y% 1,200 N
(C) ¥ 1,300 (D) % 1,400
(E) 3TRTEd qyo 3
26 p‘%’: (20 0
453
£
|
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26. The first newspaper in India
was introduced by the name
(A) Kesari
(B) Samachar Darpan
(@) The Bengal Gazette
(D) Bombay Chronicle
(E) Not attempted

What are the factors influencing Rural
Consumer Behavior ?

27.

(A) Environmental Factors
(B) Psychological Factors
(C) Cultural Factors

(D) All of the above

(E) Not attempted

28. Which of the followingis direct selection

operator in C ?
(A) dot(.)
(B) commay,)
(C) colon(:)
_{P) semicolon(;)
(E) Not attempted

=

w25

29. In a certain code, RAIN is written as
8 $ % 6 and MORE is written as

7'# 8 @. How is REMAIN written in
that code ?

A #@7$%6
B) #@ & $ % 6
C)7@#$%6
D) 8@7$%6
(E) Not attempted

26.

28.

29.

CG - CHS24

Aee 1 ween | T fR A w o
fepan AT o1 7

c & frefafga & ¥ <H swe e
I B 7

(A) =1e()

(B) hidI(,)

(C) HIeH(:)

D) Sfiehier(;)

(E) JTSTa

us fifira #ig I RAIN 1 8 $ % 6 fer@n
T 2 3 MORE &t 7 # 8 @ feran
AT ¥ | 36 H1E § REMAIN &l 8
foran st 2

A #@T7$%6

B #@ & $ % 6

C7@#$%6

P 8@7$%6

(E) Tganfaa

—
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30.

31.

32.

33.

Rajasthan has its High Court (principal
scat) at

(A) Jodhpur

(B) Udaipur

(C) Jaiselmer

(D) None of the above
(E) Not attempted

Which is the capital city of Manipur ?
(A) Shillong (B) Imphal

(C) Silvassa (D) Kavaratti

(E) Not attempted

What is recursion in computer

programming ?

(A) A loop that repeats a block of

code until a condition is met

(B) A function that calls itself

(C) A process of breaking down
a problem into smaller
subproblems

(D) A way to optimize code for faster
execution

(E) Not attempted

Pick the odd one out.

(A) Just (B) Fair
(C) Equitable (D) Biased [ HE
(E) Not attempted ﬁ‘i‘:&;ﬁ
The discriminant of the quadratic
equation 2x2 - 6x - 3 = 0 is
(A) 60

&
(B) 60 e
(C) 12 gl
(D) V12

(E) Not attempted

P

CG - CH824

30. memwm(ug@xﬁz)m%?
AT TR

(B) 3gaq
(C) HeT
(D) ST & & g 7
(E) 3vanféa

1. TR 1 TaaTh wET -T2
(A) e _4BY 3T
(C) Treaman (D) el
(E) Avaridg

32. HORR Wi § g w@n gar 2 2
%) T5eht vk ot B o o o g
IS % Th seAie H ST
] (B) Toh oYM SN GE ! Tl HLT 2

EEH_'J (C) T gwe1 i BT IT-meaT o
e & uhea
(D) sft § fsured & frw e =
FIRAT FE BT T i
(E) Taida
33. T wee g |

(A) =Imrqef (B) fwqey
(C) =mifaa BT 9&TT]
(E) 3vEfia

feema wfie 2x2 - 6x - 3 = 0 %7 firives
TR ?

34.

(A) 60
(B) V60
(C) 12

(D) V12
(E) 3ranfaq
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Kunal walks 10 km towards north.

CG - CHS24

as. Wmeﬁtafnlo%tﬁm%waf

35.
From there, he walks 6 km towards 3 98 zﬁqm #1 3T 6 Fpeht werar 2 | e
south. Then, he walks 3 km towards a8 ‘{g &1 FT 3 foprft =reran % | sifir
cast. How far and in which direction is | [§] E‘ﬁ'géh N {’iﬁf{mﬁm
he with respect to the starting point ? lﬁgi‘i §2 7
f WL
(A) 5 km, West ) 5 R, f M'I;C‘
B} S km, North East R - - ﬁ--; I Wj
(C) 7 km, East ©) 7 foprft, tEi
(D) 5 km, South West (D) 5 faprft, afem aferm
s Py /\
46, Whichofthefollowingis/are Marketing | 36 grreftor e 36 fere, Freferfia o éjﬁm
Strategy available for Rural Market ? Tk oy ITeey B 7 &‘
(A) Promotion Strategies B Q

(B) Product Strategies
(C) Price Strategies
(D) All of the above

(E) Not attempted

37. According to the 2011 Census of India, 4
which of the following states has

population density of 17 personi@f
sq. km. ? - ‘\Q‘\

(A) Bihar W,

(B) Uttar Pradesh Of0

o
(C) Arunachal Q@é}& B z

(D) Sikkirh A0~
(E) N@?;\;.‘xtéfn’\’pted

Qd&}am-e-Nairang is a compilation of
+ poetry written by

(A) Syed Ghulam Bhik

(B) Murari Lal Sharma

(C) Allama Muhammad Igbal

(D) Altaf Hussain Hali

(E) Not attempted

2>

33%’%@ 2011 I FVAT & FEN,
frafafaa § @ fea T=T &1 SHEET
e 17 afeq ufa i et 2 7

(a) femm

(B) IR Je

() ITRuTEE e

(D) Tafasn

(E) 3ToETd

38. HAM-U-T0 g fed ms wfaasi
1 Thed 2 |
() &g Tem firs
(B) Hureret smaf
O} AAHT YeHE FhaTd
(D) IFeaTh g FTe
(E) 3rorantad

A
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39. A sum of money doubles itself in 4
years at compound interest. It will

amount to 8 times itself at the same

rate of interest is

(A) 18 years

(B) 12 years

(C) 16 years

(D) 24 years

(E) Not attempted

OO

555

40. Pointing towards a boy, Veena said,
he is the son of the only son of my
grandfather. How is the boy related to
Veena ?

(A) Uncle (B) Nephew
(C) Father (D) Brother
(E) Not attempted

41. In which year was the India’s First
National Park, the Hailey National
Park, established ? 4

(A) 1930 (B) 1932
(C) 1936 (D) 1939 &\\a
(E) Not attempted /«\\(3}'\-

42. What is the nece ~ondition &

deadlock to occn

(A) Mumgkﬁxca:smn

{&)}i\nd wait
0 preemption
0\%) All of the above
» (E) Not attempted

43. In which year Right to Information

(RTI) Act came into force ?
(A) 2004 (B) 2010
(C) 2005 (D) 2009

(E) Not attempted

R

CG - CHS24
39, Wmm&mmztaﬂﬁa‘m
LU T 7T TR ey
ﬁﬁflaéﬁgqmﬁhﬁ?
(A) 18 a4 J'/”
AB] 12 o Pyl
(C) 16 =4
(D) 24 =4
(E) 3rvafig
40. T T Hi 3l 390 H@ a"@i\%
W,ﬁﬁm%mﬁmaﬂ%|
mmﬁmaﬁ@wﬁa
(A) =TT NV%)WﬁGn %
(C)ﬁm o prm @
,&%WWW &t T e
9 wfie fofem o ¢
" L& 1930 (#BF 1932
(C) 1936 (D) 1939
(E) Avanfd
42. 7Y (Sseih) ufed & % T e
Id R 7
(A) PG TR
(B) ®lee Ug a2
(C) 7 Hrury
Dy 3w et
(E) 3wamtya
43. Wﬁﬂfﬁﬂ?ﬂ(mﬂ)ﬂﬁwm
o aﬁmgsn?
B{& (A) 2004 (B) 2010
L4€] 2005 (D) 2009
(E) Froaifaa

-10-
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= B)
&) 3 (% A
9 AN 11
0 55 LD 52
(E) ‘Netattempted
o
47. ich function is used to open a
binary file ?
(A) fopen()
(B) open()
(C) fread) %ﬁ;‘i
(D) fwrite() O

N

what i8 binary code ?

(A) A system of representing
 information using base-10 digits

A system of representing

B) 3 .
‘ information using base-16 digits

A system of representing
information using only two digits:
0 and 1

(C)

(D) A system of representing
information using alphabetic
characters

(E) Not attempted

Manas Tiger Reserve is located in
(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Assam

m Werala
lU’ IVl Caaa

(E) Not attempted

Tickets numbered from 1 to 25 are
mixed up together and a ticket is drawn 4

at random. What is the probabili o
that the ticket drawn contai fme
number ? &/

(E) Not attempted

-1

44, Wﬁmiﬁﬂ??
(A) g@l—lo 3R] I TANT Tk HEAT
%1 gfafafie 0 i 0F et
(B) g@—lﬁaﬁﬁwmﬂm:ﬁm
%ﬁ\g 1 sffifre e o e
E%maiﬁ:oﬁﬂlwm
Tk g 1 e H H T
yoTTe!
(D) SOTHTET SO ST T Hh AT
=1 wfifafie w0 6 T gomel!
(E) 3Tvartad ~ O
45, T <R fd = ;\@ﬁd%‘
(A) IR T K %
(B) HEA WA gj\
q'erm :;y
(D) ,Q,»\\
&
%)
tg.’,i'ﬁzsaﬁmiﬁﬁiﬁa:ﬁa%@mfﬁw
@a‘ fean < & 3w fohe Agfes w9 4
Fyeprer ST 2 | = gren g T feere e
e dush FwsT @@ @ ¢ 0T
2 l JJ
(A) 5 (B) 25
9 11
€] o ®) ==
(E) T5TEa
47. W BEA $1 G@ied & e fRE s
o1 Y& TRt SraT 2 7
(A) fopen()
(4BY open()
(C) fread()
(D) fwrite()
(E) 35Emiéd
1- D

CG -~ CHS24

W
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48. The chromatin that is mm‘Cr lled aSy
packed and stains dark are calle

(A) Heterochromatin
(B) Euchromatic
(C) Chromosomal protein
(D) Homochromatin
(E) Not attempted 1 |}l‘|
4™1 = 48, then nn i‘s equal to
(B) 8
(D) 1

49. If4n_

(A) 3
(C) 27
(E) Not attempted

S50. Who was the founder of the Asiatic

society ?

(A) Sir Thomas Erle
(B) Sir William J ones
(C) Lord Mount Batten
(D) Lord Charles Rose
(E) Not attempted

S1. Six people A, B, C D, E an(/i}g

standmg in a circle facmg th re. B
is the immediate ne1ghbo g;§'and €,
= El A is the immediate nei ‘ur of E and
E.l_ri C. F is to the right+ &l‘:‘

= 20 LAC rignt D

D

CG—CHSQq,
48, w%ﬁﬁwﬁaﬁ%ﬁhﬁg
3R Ty 7 ey 2 FaATd 2 |
(A) Bfetmrmfes
(B) Tehrifess
(©) Tt s
D) Eishmfe
(E) 3memfag
49, H&4“—4"1=48?ﬁn“%{4€5m%?
AR) 3 (B) 8 4;@;\'3
(C) 27 O) 1"\
(E) 3rmafia i,« '
50. qfimﬂ%m %’mezsﬁqé?
(A) |
w%m
tnazéa x
\}mm
ﬂm:;«% (E)eﬂwrﬁrcr
51. ®g=f#q A, B, ¢, D, E 3R F U g9
ﬁ%ﬁaﬁtﬁ‘sm@%%iB,DﬁT

cwﬁmﬁuw@rﬁ% | A, E 3R C =

e v/t 2 1 F p % qE AN |
W};o I;s?the mﬂn&dlate neighbour of A A 3R F %7 fpeay IS B %
an ~ 5
A)B \“‘13‘ B) C (4) B B) C 5 3
X\w D) E Eln¢ (C) D @) E
1\Not attempted | (E) 3Tfea & R
\53\\”1‘1118 lake of Haryana is a part of Asola | 52. g 3ﬁ'<’[ BT F averern Vgl I
\ Bhatti Wildlife Sanctuary HANAT ] T w7 2
(A) Brahma Sarovar Lake (A) ST&T TR e -
(B) Karna Lake (B) v 3ty -
(C) Surajkund Lake €] g=Fs e
(D) Badkhal Lake (D) =@ fier
(E) Not attempted (E) 3193y
D : 12
. sl
N
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which type of register in a Central
processing Unit (CPU) is responsible
for holding the current instruction
being executed ?

(A) Program counter.

(B) Instruction register -

(C) Memory address register
(D) All of the above

(E) Not attempted

54, A process of face to face interaction
petween the salesperson and the

prospective customer is referred as

(A) Personal Selling

(B) Advertisement

(C) Consultative Selling
(D) Transactional Selling
(E) Not attempted

Which of the following is not a product
\"\
O
O
,@:’é\
(D) After Salé e‘ﬁnces
(E) Not e‘u:%ﬁupted

55.
strategy in Rural Marketing ?
(A) Branding
(B) Packaging
(C) Pricing

/xg'\ -

dcording to population census 2011,
what is the percentage of Literacy in
Haryana ?

(A) 75.6

(B) 78.6

(C) 80.5

(D) None of the.above

56.

CG - CHS24

53, adum fgw 1 fewfa w1 F fav g
m&knqﬁz(ﬁfﬂq)ﬁﬁmmmﬁhw
fopeirem a1 @ 7
(A) STTTH HIE
(B) sezaH e

(D) Iugad At
(B) 3T

54. ﬁ%maﬂt@nﬂﬁm%ﬁam—@fﬁ\;\
Tt i FfH <Rl 1 e S %\9
() SAfFaTa fershl ‘Q\W
(B) fom 42‘\‘*‘*“
e /
(D) ,:?Gsra%ﬂﬁﬁ

3%
AE

(o
« ey famom § frefetad 8§ S
Jeare WHIfG 7& & 7

(A
\&a)

Q}@f

b

IO

56. 2011 < SEUMT 3 IHR EREATON H &
&1 wfaerg feaan @ 7

((875.6

(B) 78.6

%g (C) 80.5
ot

: (D) 3T & | HIs Tl

(E) Not attempted

-1

(E) T5=mRIa

3-

|
—
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57. When do we celebrate International

Tiger Day ?
(A) June 29 (B) September 29
(C) July 29 (D) May 29

(E) Not attempted

58. Which of the following king wrote the

book ‘Amuktamalyada’ ?
(A) Akbar

(B) Raja Raja Chola

(C) Krishnadevaraya

(D) Chandragupta Mourya
(E) Not attempted

(=] £3[5]
&5
logx 2
59. If f(x)={x-1°> X*! is continuous
| i <SR
at x = 1, then the value of k is
(A) e (B) O
) -1 (D) 1 3
(E) Not attempted ’\‘ .
O
60. What is the popu.latio) *@‘;’isity of

Haryana as per the- ﬁ@sus 2011 (in
per square km) 3\ /
(A) 786 >\,
(B) 573,\\‘“3
(C{i{sy |
m None of the above

.\:\;\{E) Not attempted

/’\ )

Which of the following is considered
as challenges in Rural Marketing ?

(A) Rich Infrastructure

(B) Poor Literacy Rate

(C) Increase in availability of shops
(D) None of the above

(E) Not attempted

R

CG - CH824
87. & Sraisiia & feam e mm £
(A) 29 54 (B) 29 fodan
ey 29 e (D) 29 T8
(E) 3rsnfir
58. ffafaa o & e o 3 ST
Teieh foreft oft 7
(A) 3TeheT
(B) TSI U1 =T A
. { A
Oy s
(E) rsmmfera \\/\v
N
L _
59. Ife fx)=dx -1’ , x= 1T fig
s\ ) L k o >e— i
S50 e (B) 0
™Y © -1 (D) 1
(E)

60. 2011 %! FHVHT % FTHN REOT
SR g (Sfd &t feedt #) faem & 7
(A) 786
_4B] 573
(C) 625
(D) STF & & *7$ T
(E) 3TSETRIE

61. mfiv foqum § Frfafes 3 & frd i
HHET ST 8 7
) TG AT e

EILE () IS

B2 (D) I & A 7

(E) 3Twarfeq

-14-
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63.

64.

65.

Ankit started walking towards north.
after walking 30 m, he turned towards
left and walked 40 m. He then turned
left and walked 30 m. He again turned
jeft and walked 50 m. How far is he
m his original position ?

fro

(a) 50 m

(B) 40 m EEE
(€) SUES E]E-LE g
(D) 10m

() Not attempted

What is the minimum age for becoming
a member of Rajya Sabha ?

(A) 25 years

(B) 30 years

(C) 35 years

(D) 40 years

(E) Not attempted

O
Rural demand is generally ) ~§\,\
. >
(A) Continuous and Regular\

.

(B) Seasonal and Irregular 4
(C) Permanentﬁ;ﬁ% ular
(D) Sporadjg\@ egular
(E) Not a:::'é’ﬁ]pted .
® ’\
%V}m}v\ﬁas the sex ratio (Female per

ousand male) of Haryana as per
2011 census ?
(A) 879
(B) 943
(C) 989
(D) None of the above

(E) Not attempted

CG - CHS24

62, sifi 3 3 T 7E FA Y
SOIﬁaaaﬁa:aﬁ,ﬁiﬁﬁ R g 2
ﬁnwﬂ“raaam‘%lﬁmazwﬁm
Hgm%sﬁ(:sorﬁaaam% | =18 foht
a,zﬁamggm%ﬁr{sonﬁaaamél

(A) 50 HieX \0
(B) 40 HIX i
(C) 30 HiX

D] 10 HI& \\:\/\
(E) FATAIRE C \

() arft 3 AR

o
ﬁg% (D)

(E)

fisz-qe 3 fefr

65. 2011 @1 JATUAT & agaﬁgﬁmvnm
T (Sfer BT qES o iEe) @ A 7
|IA7879

(B) 943
(C) 989

(D) 34T | | w1 TE
(E) A5=mmEd

-15-
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66. Which of the following is not a problem 66. 7ifiur AT 1 ﬁqﬁl’f@ﬁ i 3 -z

in Rural Markets ?

e T8 @ 7
(A) Low level of literacy [sfkf"m&-'{w A f:{x:[ E=ord
(B) Low per capita income (B) ufq =afdd amy Ea
(C) Well developed market Uey 3= TE Y i T
. [
(D) Logistic problems [24@_ (D) e e
B P
(E) Not attempted (=] (E) e
67. Who was the first Mughal ruler of 67. WA ®1 Tgw gt e H ot 7
. 5 4
India ¢ (A) ket ) \‘\:’\«,\
(A) Akbar A QO
(B) Babur LBf .
(C) Humayun SHC) g \:"
(D) Shah-Jahan (D) g~ «;
(E) Not attempted (E) asrmma &\
68. Approximate change in the volume V 68. a1 ‘8’/6 aarﬁ W x H. % =1 F I
of a cube of side x meters caused by & a2
increasing the side by 3% is . 3
(A) 0.09x*m>  (B) 0.03x%m? Cﬂ‘%) POeEmT  E0.03x'm
(C) 0.06x’m® (D) 0.04x*m? \ , 7 ©0.06m* (D) 0.04x’m?
(E) Not attempted < (E) ST

>
69. Which among the followmg;\}ance 69. f=fafEd o & sf@mn + frg 4§

form of Haryana marks%@%y"sowmg of F1 BHA T =T AT faf=a 27
the Rabi crop ?

rd

(A) Ghoomar Jhumar (A4) T \(B]
(C) Lohri m\‘ Loor () =iredt (D) @
(E) Notﬁg’}n ted (E) St
70. Ifa » 38, 4a + 2 are in Arithmetic | 70. 'ﬂﬁa+1,3a,4a+2'ﬂﬂ'iﬂ?§“ﬁﬁ“§f,a
\?gressmn, then the value of ‘a’ is ‘a’ T HH FTE ?
0 ~ 182
\') (B) 2 ¥ (A)
\ (©) 1 (D) 3 3"’6 e (€)ediers (DI B s ©
(E) Not attempted i (E) Jrsanfaa .
71. Where did the Morbi bndge tragedy | 71. W&l g WWEW ?
occur ? |.
(A) Kerala (B) Gujarat %g (@) ooy . L
(C) Uttarakhand (D) Uttar Pradesh |E2%1 (C) 3@ (D) ST 5w
(E) Not attempted (E) 3Trnfee
D -16-
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o F e P LVES
- - yr " 2
iﬁ . g ¢ B v

- , -

: "qp\'(‘n people A, B, C, D, E, Fand G are Ta:
i <tanding in a single line, facing phone
;molh- E is somewhere ahead of F.
There is exactly one person standing
petween C and G. D is immediately
pehind A. F is behind both B and
p. If D and C are fourth and fifth in

- —nenoacrtively. then which of the
hﬂt’, JCSpP U raryay )y mmawas R AAR AL e gean

following must be true ?

"
b
.

(A) Ais first

(B) B is first

(C) F is sixth

D) F is seventh
(E) Not attempted

What is the per-capita income of
Haryana (at constant price) as per the
Economic Survey 2023-24 (Advance
Estimates) ?

(A) ¥ 1,04,550

B) ¥1,85,490

(C) ¥2,57,840 ;a,

W8S
i

73. 73.

(D) None of the above
(E) Not attempted (‘/\
Forests department of fegrana runs
Pheasant Breeding\éc?&er in

«X &
(A) Kuruk: hgf‘\r ’\(B) Bhiwani
(D) Pinjore

74. 74.

(C) Pan a
(@{‘Nv ttempted

' 75. Which one of the following is not a
Rural Marketing Mix ?

(A) Product
(C) Price
(E) Not attempted

75.

(B) Promotion = E
(D) Package (52

-17-
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LA@FW%

ELE () srfa
=5

CG - CHS24

am =af# A, B, C, D, E, F 3T G U
dﬁﬁvﬁ'ﬁraia%ﬁqmﬁ@%%lm,ph
Eﬁ‘é’fmﬁﬁlcaﬂtc%aﬁaﬁm@
mﬁﬁw@gr%m,p\%mﬁéw,g
ﬁTDaﬁaﬁ‘ﬁf}%lqﬁD'}ﬁTCm:
t'rf%ﬁzﬁ?}aﬂitrhﬁmqmﬁ,ﬁwﬁcr

= A A o 77 211 FMET 7
qu’)"’l-ﬂl IV v s !

(A) AT &
(B) B U 2

T\ o

8
A
e
2

(D) F @radi 2

L

(C) % 2,57,840

LBy 3T F § FIE T

(E) SRR

g %1 39 faum T i TS
g T 7 |
(A) FHer (B) e~

\B) =R
(C) HeA - BIREE]
(E) 3rmfEa

A
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77.

78.

n area ﬂl- a rec tang]e

™ 2w
11T lllu\llnull

inscribed in the circle
X+ 1) T (y = 3)2= 64 is
(A) 64 sq. units

(B) 72 sq. units

(C) 8 sq. units

(D) 128 sq. units

(E) Not attempted

Which of the following state introduced
‘Chirayu Health Insurance’ Scheme
in India ?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Kerala

(D) Haryana

77.

CG - CHS24

A feo o 11D -l
nr H

e 1) + {y - 3)7 = 64 % i 3if
0 M0 vk s v Sy A 2
(A) 64 a1 378

(B) 72 & 313

(C) 8 e 573

(D) 128 = g3

(E) e

i ¥ Preforfaa § 4 x}‘;aarﬁm
e s’ zﬁam%;,

(A) I TSI _ < \,

QN
ey

N

(E) Not attempted (; ;{}\ (E) IATATE
What is the limit of the annualtu over | 78. UHTHUWE-gEw Jemi % foru AT HHrEm
for MSME-Micro enterpnse\"'x = i = 8 7
(A) < 8 crores 0 \, (A) < 8 FUS
(B) < 5 crores /"\ (B) < 5%
(C) <10 cro,(\eQ E =l ey < 10@3
(D) None of,the’above Ot (D) IFIF H & HiS TE
Et)‘\{é\attempted (B) F5ied
79. ‘\What is the age limit cap for joining | 79. giemm o ﬂ@qiﬂ foram wa et R
\\ Mukhyamantri Kisan Evam Khetihar Site g AT F I B9 6 fere am
Mazdoor Jeevan Suraksha Yojana in Hrm = 2 ?

O

Haryana ?

(A) 10 years to 60 years
(B) 20 years to 59 years
(C) 15 years to 75 years
(D) None of the above
(E) Not attempted

18-

(A) 1099 ¥ 60 a9

. (B) 2099 ¥ 59 a¥

(C) 15=8 ¥ 75 99

(D) 3w | & H1E T
(E) A9=mfaa
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80. _2 __isused in the manufacture
of paints and lacquers.

(A) Poly Vinly Chloride (PVC)

(B) Bakelite
(C) Urea formaldehyde resin

(D) Glyptal
(E) Not attempted

Consider the following statements about
index of Industrial Production (IIP),
Haryana and choose the right option
given below :

1. The IIP is presently being prepared
in the State by the Department of
Economic and Statistical Affairs,
Haryana.

The present base year for
calculation of IIP is 2021-22.

(A) Only the statement 1 is correct
(B) Only the statement 2 is correct
(C) Both the statements 1 and 2 are

81.

D

=7 =

D\

CG - CHS24

1 wEm T 3 O A
AR
(A) afeht fammser Femrss (frefeE)
(B) AFeITEe

_(cy gfen wiafsase 15
(D) frerea
(E) FAsad

80.

Sfeiifirs IeaTed G (SMEHATET),

sfearon % R # Frerferfiaa ot

1. smboEh 1 A B
g gx,%‘%l

2. FMEER 3 3 o adem e a9
‘Qgﬂi\\tfz%l

(“gﬁ»\aaam 1 5@ 2

“(B) ¥aet HUA 2 LI 2
(C) e 1 3 2 i Terd @

81.

s

incorrect \,'\\ e
D) Both the statements 1 and : ! 4
= - /“X\@{g D) e 1 30 2 G wE &
(E) Not attempted ”}&, (E) ST
82. Which Part of Ina@f%o}sﬁmﬁon 82. WA aﬁuﬁ 1 HH-FT 9T HfeTeh
deals witk\l *uhdamental Rights ? iftrrl © Hefed B 7
(A) Parf'h] (B) Part II (A) 9T I (B) | II
(C%gg‘m (D) Part IV ey | I (D) ¥FT IV
«Q'SL ot attempted (E) A5=TEa )
83. The word ‘Cigaritis meghamalaiensis’ | 83. ‘Remifeq AEmATEURE g
is related with : T efd 2 |
() Butterfy  (B) Tiger %;E‘ e et (B) a1 *
(C) Ant (D) Monkey = L) =it (D) =eX
(E) Not attempted (E) IORIfEd
-19- D
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85

’\\\5\'{k

A o= p g Ardh/
/ rl]' -uf.;’()
, (jas G
(p) W A CG - CHS24

A. Z. N, M, O and P are members of a
family. There are two married couples,
N is a curator and the father of O, P
is the son of the daughter of A, who
is a banker. O is the granddaughter
of Z, who is an architect. There are
two unmarried students in the family.
There is one teacher in the family
and banker is her father. Who is the
husband of M ?
(A) P

(B) N

(C) Z

(D) A

(E) Not attempted

®

As per the Pradhan Mantri Fasal Bima

Yojana (PMFBY), how much premium |
(in percentage) should be paid by the<‘

farmers for the Kharif and Rablk{
respectively ?

(A) 2% and 1.5% by
(B) 5% and 2% -
(C) 1.5% and 3%

(D) Non&af\the above

j\&yattempted

As we go from the equator to the poles,
the value of g

L.

B

/ﬂ\

(A) Remains the same

(B) Decreases

(C) Decreases upto a latitude of 45°
(D) Increases

(E) Not attempted

v

84. A, Z, N, M, O 3 p U ufan # #gey
2 1 @ foarfea 2 & | N u wgter i
O %l faar 3 | p, A &1 3 &1 321 2, =
R | 0,z U B, 7 vF I
# | ufEm # @ sfrfea om # | ofem
H U e 2 o da gge frar 2 0 M

HufaPae 7 z
Y
(A) P b \
>
" :':E!\‘(’B’) N ﬂyﬂ{; \,\
BVE o z> 5 AL
-
(D) A %@Q\”
(E) -

85, ¥ e ‘FH?'T i A (frerussTE)
,\5‘\\% HIER, TE I @ wEedl b o
& J
>, ferami grn shww: fepae shifirem (s )

1 YT foRaT ST =fEe 7

R 2% 3T 1.5%

4B] 5% 3T 2%

(C) 1.5% 3R 3%

(D) ST & § ig T

(E) TSEfEd

86. WU T YHE W@l § Y&l W AW F, g

<hl A4

(A) THH T&a B
LAB] Hed B

(C) 45° % &Y q T 2
(D) =ga 2

(E) T5ntad

-20-
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87. In which year was National Bank for
Agriculture and Rural Development iz R S of 7
(NABARD) established ? (A) 1999
(A) 1999 _4BJ 1982
(B) 1982 (C) 2000
(C) 2000 (D) I & & Fr T
(D) Nomne of the above (E) f
(E) Not attempted

88. How many pairs of ribs are present in | 88. HFd st # qaferdt & fRad S w2 7
the human body ? LAY 10 \’/\'y\
(A) 10 el (B) 11 o
(B) 11 Eﬁ% ©) 12 \f;.,
© 12 O

(D) 13 3™
(D) 13 XN
(E) Not attempted (E) 3'“"'“5[«:&‘&
& / - .

89. Haryana State Industrial and 89. %’ﬁwm@m Td SEETEAT fashE
Infrastructure Development ﬁ%@ég (TS ATSEHT) 1 T
Corporation Limited (HSIIDC) was 4—3@; w8 7
(A) 1967 Qe’ (B) 1976
(B) 1976 {\,Q ™ 1000
(C) 1982 (‘/X\V e
(D) 1994 S : \B] 1994

» (E) Not attempted \;,:?«\\ (E) FyEa
- AN e |

90. Some sm%éfg\hneupmaqueuein 90. B BH UF Hal 1§ G & foay mefiy =t
which%lrij stands 15" from the left g 159 TF W 2 3R gf= g 9 174
arn hin is 17" from the right. If mm%lqﬁamwmé1?ﬁ

%,Q};y terchange their places, Sachin i e & 159 T W BN | HaR |
ould be 15" from the right. How fr o= 3 2 Sl
many students are there in the queue ? — é@?—"
(4) 21 (G211 77 T
(B) 22 (B) 22 10 2t
(C) 29 Lier29 s &
(D) None of the above 7 [8] (D) 39ad | ¥ HI3 Tl
(E) Not attempted % (E) Tofea
-21- D
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English Language fott
91. Choose the right option to form a| 96, ‘@i # faemmes 2
meaningful sentence. A
was/performance/impressed/with/ kni () 3ren=
quite/his/I “wpF. (B) ﬁ?.Fl
(A) His performance was quite (=] L(er mef
impressed with I.
__{B) 1 was quite impressed with his (D) TEH
performance.
(C) I with his performance was quite (E) A5
impressed. . "
(D) His performance with [ was quite 97. &fu % fore g d 7 ,\:\,
impressed. ~ ~\)
”T\ Nngattemp ted (A) a £ ‘\‘\'
=
92. Choose the correct meaning of the LB)
following idiom and expression, (C) IR ~
Open secret. % <L W
_AA] Known to all (B) tﬂ;{ a)
(B) Of no use (E),.N \‘ﬁm ]i%’d
(C) A useless person N y :
(D) Full details 93.,%’&%@@@_%%
(E) Not attempted %;w 47
93. Choose the correct indirect form of the {* %
o (B) T
given word sentence. ‘“‘} ¥
He said “who is your father” ) (C) JIF
(A) He asked me who was m; her. fqafrs
(B) He asked me that Wh(\ (D)
father. (E) TS
L+C) He asked me_ ha father was.
(D) He asked my father is. 99. WY Ieg % Hal 37 H I HIWT |
(E) Not attemg%gg, (A) it
N\
94. Choose rrect spelling of the given
word. thc\é% g = HB) Eq
evalop: (C) Hear
velop
NB davalap (D) =¥
(C) develup STy
\’\ (D) None of the above (E)
‘\‘\:} : (E) Not attempted 100. S HEE & ﬁl’é, e 33
o 95. Choose the correct answer after gve:®l @q
making necessary corrections. I-El ] LA
He went there by foot. (B) grfq
+A] He went there on foot.
(B) He go there on foot. (C) TRt
(C) He went there in foot. x gﬂﬂ
(D) He went there for foot.~ ()
(E) Not attempted (E) sAvafaa
D 22-
jet
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